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MENTAL ABILITY TEST

1. e & fo e a9 H § O wl & e
Q) Hegl

ah Ffae

) Fate da

3N faym

1. Flower is to a Bouquet as Ministeris to a
a) Vaoter

b) Cabinet

c) Constituency
d) Department

2, T &) Hay d A T I qER A w5
ey e 27

™ ™

) @

o TE

) IR

2. 'Fly’ is related to "Parrot’ in the same way
‘creep’ is related to What?

a) Snake
b} Rabbit
¢} Fish

d} Crocodile

3, ORI F ST & e e, S emmm

3. 'Guilt’ is to ‘Past’ as 'Hope' is 1o

a) Present
b) Future
c) Today
d) Hopeless

4. Ew @ W&y A ¥ S veR § o vew
P Y HE

4. 'Sporis' Is related to 'Logo’ in the same way
as 'Nation' is related to

a) Emblem
k) Animal
¢} Ruler

d) Anthem

5. U [@g®] & Ha o § ¢ ot hag &7
Tae fopg @ 27

T S0HE
i &Iy
) FER

|
5. Window is to pane as bock is to

a; novel

3 qu

6. Choose the odd cne out,

a) Titan
b) Earth
c) Jupiter
d) Mercury

7. fum |
Q) fes
=) e
HhEa
RIS

7. Choose the odd ane out,

a) Quintal

gy Kilogram
gy Ton

dy Gallan

S



B. ldentify the odd ward.

a) Gallant
b) Gritty
c) Timid
d) Plucky

el fased &1 997 $1|
9. TaF : IN - FEST: 7
T i
al) AR
i) st
2) dgen

Choose the comect alternative,

9, Cub:Lion :: Colt:?

a) Stallion
b) Stag
c) Dee
d) Leopard

1n.mﬁm:a‘:ﬁ;;ﬁa¥m1:?
m) 3G

NG
o s
2 I

10. Pyorrhea : Teeth :: Trachema:?

a) Eve
b) Skin
c) Lungs
d) Ear

11, \f & TR 2
) el

) =

) e

&) et

11. Mother : Daughter :: Aunt: ?

a} Cousin
b) Sister
c) Brother
d) Nisce

12. &0 & BE I & T AW T F

m g

R

&) modt

EHRITUH

12, Fruit s {o banana as Mammal is {o
a) Cow

b} Snake

g) Fish

d) Sparrow

13, yd 5% J I vHT Tafa & 59

Creifalec BrEd

T HifEE

o) WidkT

m e

B Sl

13. Pole is related to magnet in the same way
as is related to battery.

a) Cell

b} Power

c) Terminal
d) Energy

14. 4f¢ CRUDE &1 BSTED & &4 H ferar o
& dimoisT #____ A aifeq fea wmom
T NNJRU

M LNHRS
Ih NPJTU
BN LPHTS

14, If CEUDE |s written as BSTED, then
MOIST will be coded as

a) NNJRU
b) LNHRS
e) NPJTU
d) LPHTS

15. 1ufg uH Pilg s 8 LUTE I MUTE &
w0 forg o B SR FATE %1 GATE & &0 o
Toman =T 2, o 99 &8 | BLUE FT &Y R
FUm?

T CLUE

&N GLUE
h FLUE
&l) SLUE
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15. If in a certain code, LUTE is written as
- MUTE and FATE Is written as GATE, then how
will BLUE be written in that code?

a) CLUE

by GLUE

c) FLUE

dy SLUE

16. 4% *fer &1 o3t TR R, S B R
FEl o B, A B W el o 8, uE B
Tl T T & R T P YR el o B,
ot forga & fore us e o =1 sy See
Bl
g
biE]
EURGE]

16. If'lead’ is called 'stick’, 'stick’ is called 'nib',
'nib’ is called 'needle’, 'needie’ is called ‘rope’
and 'rope’ is called ‘thread’, what will be fitted
in a pen to write with it?

a) Stick

b} Lead

c) Needle
d) Nib

= & 78 e ® aoTe SfeR FH A B?
What shall be the next alphabets in the series
given below?

17. ASK, BTL, CUM,

a) DVN

b) DWL

¢) OWK

d) DWP

18, TfE GIVE #5137 & =9 5 #If5q o
2 3 BAT @1 924 % =0 A miled w2,
T GATE &1 &4 FHifed faar s

T) 5427

&) 2547

dl 5247

31 5724

1B. If GIVE is coded as 5137 and BAT is coded
as 824, how is GATE coded?

a) 5427
b) 2547
c) 5247
d) 5724

5

19. TF F8d S8 § LIBERATE &/ 56403170

# ©Y W R ol g, TRIBAL @1 34 ®is H
i =0 H fomar o

T) 734615

1) 736415

) 136475

B7) 034615

19. In & certain code LIBERATE is written as
56403170, TRIBAL will be written In the same
code a5

a) 734815
b) 736415
c) 136475
d) 034615

20. UfE 9 5 AT FE1 e €, TEEe
3T T g5p] Hel oal © T TanT @ el
mﬁ?%mwmmﬁmwﬁ?
m ]

20, If clock |s called television, television is
called radio, radio is called oven, oven is called
grinder and grinder is called iron, in what will a
lady bake ?

a) lron

b} Oven

o) Grinder

d} Radio

21. SfEme et
1) e quag
G o e i
iy ST - T HEE
oY) TEe : T mEA

21, india Gate : Delhi : ;
a) Chicago ; USA
by Albany ; Mew York

c) Agra : Taj Mahal
d) Chandigarh : Rock Garden
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22, Choose the most appropriate description
aboul these three words,

SANDSTONE : LIMESTONE | COAL

a) They are formed in sedimentary rocks.
) They are chemical minarals,

c) They are found in river beds.
} They are formed by metamorphic rocks.

23 RumEsai A8 oe vt 1 W Ga ™
THE & vl B
Hed : 71 gle

23. Choose a word from the given alternatives,
that belongs to the same group.

Peas : Gram ; Pulses

a) Barley
b) Rice
c] Beans
d) Coconut

feu o fawredl & O @ g g

Choose the missing term out of the given
alternatives.

24, BF,CH, 7, HO, LT

a) DN
b) EL
c) EM
d) EK

25. B feeed O U = O, 1 RA
T B dEfiE )

9 PO 3F

o mm
25, Checose a word from the given alternatives,
that belengs lo the same group.

Jute : Cotton ' Wool

al Terylena
b} Mylon
ci Rayocn
d} Silk

26. TH WIS F 907 ¢ OrgE Teaf AT wie
& TEE HEY =7

it - g

T U qh

dh 7=« ZeAl

) g v

) T ; FTER

28, Select the pair thal has the same
relationship as the original pair of words.

Evaporation : Cloud

aj Maountain : Snow

by Tension : Breakdown
c) Book: Pages

d) Pressure ; Atmosphere

g T fEeedt # | @ 18 g

Choose the missing term out of the given
alternatives.

27. AD, EH, IL, 7, QT

a) MM
b) MP
c) OM
d) LM

28. A, B,C. D, E,F,G 3R HUF g ARl 3N
e @I 3 TE FIH 96 ¢l B, D F I H T
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28. A B,C, D E F GandH are sitting around
a circle facing the centre, B is second 1o the
right of D, who is third fo the right of F. C is
second to the left of A, who is second to the [=ft
of F. G is third to the right of E. Who is on the
immediate right of A?

a)B
b) E
c} F
d) None of these

29. FmfefEs uy 3 wel e T
O/5, Gf9, JM4, Mi20, 7

a) Q26
by O/26
cl Q27
dl P27

29, In the following guestion, choose the right
option

D/5, G/, Jr4, W20, 7

a) (/26
b) O/26
c) Q27
dy P27

30. A5 TS| &) Ulda & & o o 184 WH
R &7 99 Ui 1 e a8

0) 26
afh) 32
) 24
225

30. Mahan is 18" from either end of a row of
boys? How many boys are there in that row?

a) 26
b) 32
c)24
d) 35

31. B0 P HeM 7 w81 ASH TASkbdl B e H
RE Tn i W g Ew
AT 9 WSS &, °f IHD 9 $I Ul H Al
TSl &7

0 26
i 12
w10
2l aa

31, In a class of 60 where boys are twice that
of girls, Rupa ranked 17" from the top. If there
are 9 boys ahead of Rupa, how many girls are
after her in the rank?

a) 26
bj 12
¢) 10
d} 33

32. ofe et &1 &0 Ieor &7 Tm W
fofetEd § ¥ anuds & F 14a] S(&T FH @
BRT?

N
&L
o
B M

32. Ifthe sequence of the alphabets is reversed
which of the following would be the 14" letter
from your left?

a) N
b) L
c) O
d) M




33, WEl [Aweq T4 W wae T &1 ont @
Y feams == W1 Ao

6,11,21,36,56, ()
T 51
o) 81
i 42
3 o1

33. Choose the correct alternative that will
continue the same pattern and fill in the blank
space,

8, 11,21, 38, 58, (__ )
a) 51
b) 81
c) 42
d) 91

34, T HE [T &ifo
1,1,4,8,9, 7, 16, 64

T 27

dl) 26

Hh 18

&N 10

34. Find the missing number
1,1,4,8,9 7, 16, 64

a) 27
b) 26
c) 18
d) 10

35, Yaar ot B

B.EH?
Ly

) J
K
L

35. Complete the series.
B.E,H, 7T

a) |
b) J
c) K
d) L

36. e git Bt

AB, BA, ABD, DBA, PQRS, ?
) TUVW

aly SRQP

Ul RQPS

B QPSR

36. Complete the series.
AB, BA, ABD, DBA, PGRS, 7

a) TUVW
b} SRQP
¢} RQPS
d) QPSR

37. wEt fawe 9

D-4. F-8, H-8, J-10, ?

0 K-12

|l L-12

T m-21

2h L-21

37. Place the correct term
D-4. F-6, H-8, J-10, 7

a} K-12

b L-12
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o) M-21 ¢) 15m, North
©d)L-21 d) 45m, East

41. K L¥F 40 Ao sim-aim & 2 afgm, L

I T@IT T B ¥ 40 Hew sfaorgd # 3, A M, K F fFw Ean

Find the missing number
38. 1/2, 3/4, 5/8, 7i16,

ay 9/Mg
b) 11/18
c) 8/3z
d) 9/32

39. 33, 321, 465, 537, 573, ____
a) 591
b} 588
c) 601
d) 595

40, 3efte 20 HIeX IR 1 AR 9o T a8 e
g1 8 iR 30 HieX Taa 51 e 98 & g
2 3R 35 HiicT goan &1 it 98 =i e s &
3% 15 Hiex el ¢ side: 95 af SN gsaT e
A 15 Hied IeRT 1 98 TRivE Ul @ ey
e & o e e i A W R

T 159, 04

dl) 45 HieT, FT
) 1591, TR
2l 457, o

40. Atk walked 20m towards north. Then he
turned right and walks 30m. Then he turms right
and walks 35m. Than he lurns left and walks
15m. Finally he turns lefi and walks 15m. In
which direction and how many meters is he
from the starting position.

a) 15m, East
b) 45m, North

Ha?

U I
) giEm
#h g
&ty afgm

41, K is 40m south-west of L. If M is 40m
south-east of L, then M is in which direction of
KT

a) North
b} South
c) East

d) Vest

42. o TR UIE UTS &1 STEE__©
) 20
dh 27
0 28
30 30

42. The average of the first five multiples of 9
is

a) 20
b) 27
c) 28
d) 30

43, = @i 1: 2: 3 F U A E ST HOF 12
B do &

T 12, 24, 36

) 11, 22, 33




N 12, 24, 32

g0 5,10, 15

43, Three numbers are in ratio 1:2:3 and HCF
is 12. The numbers are

a) 12, 24, 36
by 11, 22, 33
c) 12, 24,32
d) 5, 10, 15

44, U ufted, eHag B =T feReT e

g

U) 0.2
ah 0.02
MM 0.005
2h 0.05

44, Half percent, written as a decimal, is
a) 0.2

b) 0.02

c} 0.005

d) 0.05

140 A e ug 2

45. 20,2530, __ __ _
q) 22
) 25
w23

) 24

45. How many terms are there in 20, 25, 30, _

140
a) 22
b) 25
c) 23

d) 24

46, 3 20, 15, 10, @1 1581 UG 715

T -45
&l -55
fh -50
o

46. Find the 15™ term of the sequence 20, 15,
10,

a) 45
b} -55
&) -50

d) 0

47, OfE acbic = 3:4:7, 1 AU (a+btc) : ¢
TR &

o 21

wif) 14:3
o 7:2
g 12

47. If a:bic = 3:4:7, then the ratio (a+b+c) 1 cis
equal to

a) 211
b} 14:2
c) 7:2
d) 1.2

48. T H@ 45 & SF0E H § 3R A5 LCM
180 T @t T@M B

™9
& 18
¥ a6



&) 45

" 4B8. Two numbers are in ratio 4:5 and their LCM
is 180. The smaller number is

a) s

b) 15
c) 36
d) 45

49, 3FUTE 711 F Ul® Ug A F AZT G
TET, Th T8 AU 3:4 & §¥a1 ] A?

08
w 7.5
) 6.5
ghs

49. What must be added to each term of the
ralio 7:11, so as to make it equal to 3:47

a)b
b) 7.5
c) 6.5
d) 5

50. 3:40 T, UG B UC B g N e &1 6
__ SIS a8

Y 120 foift
af) 125 feul
¥ 130 &
) 135 fEh

50. At 3:40, the hour hand and the minute
hand of a clock form an angle of

a) 120 degree
b) 125 degree
c) 130 degree
d) 135 degree

O_

Prafefd wa & a6/l &1 S ¥ 998 & 1.
e SEar § frae wrE W efhie T d @
S TR Y QR e

In the following question, which one set of
letters when sequentially placed at the gaps
in the given letter series shall completeit?

51. c_e_cd f d_f
a) dfcec
b) diece
¢) cfede

d) cdfed
52, _beca ca ¢ b_

a) aabbc
b} abbbe

c) aabcc
d) abbac

53, G 5-5=24 A7 -7 =487 10 - 10T
7 719 Fiferd =7

T) 80
=0 99
i 91
&l 56

53, If5—5=24 and 7 = 7 =438 then find the
value of 10-10=7




[y
)

s54. Fafafaa vy A, § 7 sme 3 gw ey
1 aYT Py |

In the following question, select the missing
number fram the given seres,

& 5 4
a8 10 5
2 1 7T
|

ay 10

by 6

[ I

d) 8

55. forod @ee uer, wrg ofit TN &) vefifa
faa s &1

In which liquids, metals, and gases are
displayed.

a)

0Q0O

B}

o)

(c)

d)

=2
e o
e 0 O W

56. U ITH TS T B SR T N FS g2
=L A8 Gle- 9 g ol R grfef s g
AT @ GF 9o & a1E 98 e 3 et afeh
SR 92 ™| IE O fow Ran o

Uy afém
EVReC]
o afEH
2h Iw

56. One evening Raja started walking towards
the sun. Walking a litlle distance and turned to
his right and then turned to his right. After
walking a little distance, he turned again to his
right. In which direction is his mouth?

a) South

b) East

c) West

d) North

57. X, 'Y @ S& 81 'y @] faars 'z 4 gan B

Yy iRz F UE A AR A, X R T TER
TEltE g7

0 T8
&) wd
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57. 'X'is the sister of "Y". "Y' is married o0 'Z".
v and ‘Z' have a daughter 'A’. How [s 'A'
related lo ‘X

a) Sister

b} Daughter

c) Miece

d) Cousin

58. THTH, TEHUI $ SHed o Hidel sl [HeTH
duw @1 41 €)1 aifi & soad 3¢ diftee &
et o 9 g8 §1 s, dluw & 29§
wey, siftpa e v ddlta 27

0 uE
&l de
< e
EIELE

58. Arushi is the daughter of the only son of
Laxman. Nirupama is the mcther of Deepak.
Yamini's only son Ankit is married io Nirupama.
Laxman is the parental grandfather of Deepak.
How is laxman related to Ankit?

a) Brother

b} Son

c) Father

d) Paternal uncle

59. U HIGH! = Uep AfEe ¥ Fel, TN e
T 1 del #3 Ual &1 W | 09N & R afgen
FE?

) A
EhlERE
) T B we
=) At

59. A man said fo a ledy,"The son of your anly
brother is the brother of my wife". What is the
lady to the man.

a) Mother

b) Sister

c) Sister of fatherin-law

d) Maternal aunt

60. JUERI WIdd ®| die dfga =i GEn gu,
TS J Fg, "gE X 9T # 4t & UE 8

- Wl 99 g § o ueR deiid 87

) &
) ettt
) Haita

60. Showing the man receiving the prize, Saroj

said "He is the brother of my Uncle's daughter”.
How Saroj is related to the man?

a) Son

b) Brother-in-law

¢) Nephew

d) Cousin

61. % P Wl H, 4fd MENTAL @1 60 fera
WA E, o ABILITY I um H H9 fern
078
dhy 75

0 73
&N 70

61. In a code language, If MENTAL is written
as 60, how will ABILITY be written in same
languagea?

a) 78

by 75

c) 73

dj 70

62. 34 fadeg &1 9a- ®1 & died] e | gl
vER EhE & O ol ven ued e 9
dafia gl

21 444 ::31. 7

T 961

M 963
dh 966



=h 965

62. Select the option that relaied to the third
numberin the same way as the second number
related to the first number.  21: 444 :;31: 7
a) 961

b) 963

c) 966

d) 965

63, 3H [dd0 &1 90 ¢ ol e BN THE T
TEfem 2, U UHR ©F gE AR TOF TR
&R WHE ¥ usfid gl

Select the aption that is related to third |etter
cluster, in the same way as the second letter
cluster related to the first letter cluster.

AGM: ZTM : : DJK : 7
a) WRP
b} VQP
c) WQaP
d) WaR

64, 9 gew & Mt mew dsfirr s F oht
TG © | BIe Hiee oy T8l Se

U) S Aieen defiiet gudt §

N P F9e 7 T O uew Asfifey
GG

T 7 AfgaE oY &9 B W
?ﬁ@ﬁﬁmﬁaﬁﬁﬁam%ﬂﬁ T

B4. All the members of the Tennis club are
members of the badminton club toa, No woman
plays Tennis.

al Some women do play badminton

b) No members of Tennis club plays
badminton

c) Some women are members of the Tennis
club

d) Some women may be a part of Badminton
club

57 a2 45
Y —_—
65 &7 171 3 128 ?

15
a) 262

66. 5600 T 7% - 3500 F1 28% = 1988
o 58
0 55
) 51
Eh 53

B66. 77 of 5600 - 28% of 3500 = 1988
a) a8
b) 55
c) 51
d]l 33

67. 420 T 5% x 150 FT 7% = 252
T 12

) 533

s

208

67. 5% of 420 x ?% of 150 = 252
a) 12

b) 533

) B

d) 8

o

d}f—:

69. 550 FT 16% + 500 F1?% = 2.5




o) 5.64
e
h) 7.04
o) 6.08

69.16% of 550 -~ 7Y% of 500 =25
a) 5.64
by&.11
c) 7.04
d) 6.08

70. 244 x 7=4062+5
a) 2031

b} 213.1
c) 205.1
d) 215.1

71. (3325 + 25) % (152 +16) = ?
a) 1260.4
b) 1264.9
c) 1265.3
d) 1263.5

72. (7)%+15%2-332 =97
a) 33
b} 31
c) 34
d) 30

73, Torae aul 3 4600 SUT T TR 3 wioww ofa
gy @1 g7 T 5428 TUY §1 WITAIT7 HIYRT &7

0 3
@5
e
N 4

73. In how many years will Rs.4600 amount to
Rs.5428 al 3 p.c.p.a. simple interest?

a3

b) 5

c) 6

d) 4

74. 6000 T T 3§ 94 e 10% AIfU® &7 ©
gl SITE [HaHl BT, WEle STl A w9
4 SO B 27

T %.810
# T 870
°h ¥ 930

gl % 900

74. What is the compound interest on Rs 6000
al 10% per annum for one and a half years,
when the interest being compounded
annually?
a) Rs. 910
b) Rs. 870
¢} Rs. 830
d) Rs, 800

75. 9% SO o3 eI T Hifere o 43, 91
3 183 @ fauifes fem o 9% ofF Tde
Rl & g s ERe T4

T4
&7
GDE
=N 13

75. Find the greatest number that will divide 43,
91, and 183 so as to leave the same reminder
in each case,

ajd

by 7

c)9

d) 13

76. TWAT 36 3T 84 FTH.C.F T 87
ma

i) 8

o 12

EVRIE

76. What is the H.C.F of the numbers 36 and
847
aj 4




bt B
o) 12
d) 16

77. 3% WYH 9 §H 10T FT S w87
mA15
16
T 21
gh 12

77. Average of first four even multiples of 3 is
al 15
b) 16
e} 21
dj 12

78. e 8 GEW A1 12 WiYETl U 16 B 25 B
T FY OFEd & a1 6 T 3T 11 HiEa 39 H
7 fros B d s wwa ¥

o 10
N 15
dh 18
1) 21

78, If & men or 12 women can do a piece of
work in 25 days then in how many days can 6
men and 11 women do the same piece of
work?

a) 10

b) 15

c) 18

d) 21

79. UF GHFGR A 10 P & 0T 750 W 16
FiGl & YT g T T wiavE §
Hifor|

T) 10% TP
N 10% &Y
ot 60% T
21 60% T

79. A shopkeeper sold 16 chairs at tha cost

(D

price of 10 chairs. Find his loss or gain percent.
a) 10% loss
by 10% gain
c) 60% loss
dy B0% gain

80. T2 A:B=2:3 IWB:C=656 A ABC
™ 236

i) 2.8:6

|h 81215

B 101518

B0. IfA:B=2.3 and B:C=5:6 then A:B.C is

a) 238
by 2:8:8
o) 8:12:15
di 10:15:18

81, UF =gy faelt = W 10 faeter =
ITw 7 Y e § AR ey 15 e #
Ffreg T § Ay diea &1 aft 99 10 9 @

Egﬁﬁm,mmmﬁﬂéﬁﬁw
i |

T 120 fE
aity 125 fpafl
¥ 130 o ot
&1 150 fa A

81. Aman goes to a place at an average speed
of 10km/h and then returns at the average
speed of 15km/h. If he takes 10 hrs. in all, find
the total distance covered by him.

a) 120 km

b) 125 km

c} 130 km

d) 150 km

82. T US T Hiford.
Find the missing term,
E3M, H7J, K15G, N31D, ?
a) QB65A



@

" b) QB3A
. c) PB3A
d) Q83z

83, 4 A 2023 F gER U7 T 4 S 2024
W1 TTE &1 B 51 a1 ure

HEECEIN

EURUGEI

) HHEN

) A

83. January 4, 2023 was Wednesday., What
day of the weaek fell on January 4, 20247

a) Wednesday
b) Tuesday

cj Monday

d) Thursday

84. T2 15 TF 3T 20 T¥ 1 Bad 20 Ta IR
TR TR e, d FERET A 3=
forerd @l €1

) Tl IR B F Biod IuE E
o) T ) FE A A A
i w1 Frewed =t Freren o e
) ST H R H T

84, If 15 apples and 20 oranges cost as much
as 20 apples and 15 oranges, which of the
following conclusions is correct.

a) Oranges and apples have identical prices
b} Orange's price is double that of apple
c) No conclusion can be drawn

d} Apple is cheaper than orange

85. A B, C,D 3RE UM SH ¢l A, BH BT
B ARFTE R TR C g @RI R0, B Y

o

MET BT § ARA T ST O & St TR &
ST e ST B

) A
=) B
i c
D

B85 A B C DandE are 5 boys. A is shorier
than B, but taller than E, C is the tallest and D
is little shorter than B and a little taller than A.
Which comes in the middle according to size.

a) A
b) B
c)C
d) D

86. e Frufeles demat & smiet &0 o o
S0 &1 99 T &1 H 3 T §IT?

815, 686, 795, 835, 765, 822, 719
T 8
a1
3
&ho

86. If the following numbers are written in the
ascending order, then what will be the middle
digit of the middle term?

815, 686, 795, B35, 765, 822, 719

o on
DL — oo

B7. e wefdf ver dfd & 31 ¥ vy, woan
o1 AT & fdE 8T 81 e, Yok & e
e 1 iy T % e H B A dfgs &
S 81T R, e fRfefan § € feue
T H 7
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87. Five girls are sitting in a row. Rashi
is not adjacent to Sulekha or Abha.
Anuradha is not adjacent to Sulekha.
Rashi is adjacent to Monika. Monika is at
the middle in the row. Then, Anuradha is

adjacent to whom out of the following?
a) Abha

b) Monika

c) Sulekha

d) Rashi

88, MO T UG MG A W5 RIS, PHFTWH
R EUEITEF RIK RFTFEHdaT 8 &
T 9 R 518 AR T, K & 9 | A8 87
HEE R URE I LR,

T PandT
@ R and P
Hh K and P

Eh Only P

88. Five children are sitting in a row. 5
is sitting next to P but not T, K is sitting
next to R who is sitting on the extreme
left and T is not sitting next to K. Who

are sitting adjacent to 87

a) Pand T
b) Rand P

c) KandP
dy Cnly P

89. Rratoms - Ha& s 1=

T EEE

ol gl

T mfry

i) s

89.

Seismograph:Earthquake:: Taseometer : 7
a) Landslides

by Strains

cy Resistances

d) “olcanoes

90. UF YaE GUied & a8, VI U EH &1 3K
HE T WEl Tl @R B B depd aud
At ot e Taw e fee Ran el e ur

o o

) ofim

i) aféror

) Bt auaie &

90. Cne morning after sunrise, Ramesh was
standing facing a pole. The shadow of the pole
feli exactly to his right, To which direction was
he facing?

a) East

b} West

£} South

d) Data Is inadequate



 PrRfRT TR A R R AT E
- STEA SR WEUTT &1 &1 Wit &) arferan
T oo &4 o Prafof@ansf Fam @

The following table contains the data on
train arrival and train departure from a
station, Study the table and answer the
questions that follow

Delay | No. of Arrivals | No. of
L Departures
0 1250 1400
0-30 114 82
-0 | A 5
=60 5 3
| Total | 1400 1490
04. T § o ATEl A &1 WEm W Hifoy
o 150
@l 114
Hh 145
B 125
91. Find the number of trains that arrived late
a) 150
b) 114
c) 145
d) 125

92. Tl © WM @R el @ HEn e
T

Y 82
df) 90
dh &7
31 149

92. Find the number of trains that departed
late

a) 82

b) 90

c) 87

d) 149

93. TTH T Gl oAl w1 SR Fa Hiferg
T 10%

aly 10.5%

ol 10.71%

&l 20%

93, Find the percentage of late-arriving trains
a) 10%

b) 10.5%

c) 10.71%

dy 20%

04, TEH o il ST B 3k 8 e 1 g E
I ot 31T ST S T 12 e e R e
e s 8 6 et St o =t 9 anfie fig
o foeril gr 87

T 16 fadl
dl) 20 fE
) 24 fat
sl 18 AT

94, Rahul travelled Bkm straight towards
south. He turned left and travelled 12km
straight. Then turned right and travelled 8km
straignl. How far is he from the starting point?

a) 16km
b) 20km
c) 24km
dy 18km

95. 4,12, 36,108,
a) 68

b} 324

c) 172

d) 872
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96. 98 W&g I W oY WS § 5 | 59 07
Tt 8l

I &
dh) affg
Hh Fed
SRETl

896. Choose the word which is least ke the
other words.

a} Ear

b) Eya

c) Heart
d) Kidney

97. =l &l T TEm & ofE w1 AT 12 2 ot
3! @1 Jaed § 7 TE T gu 9= @ 54
e B, 9 e g v S

T 39

ah 57

o 66

2 93

97. The sum of the digits of a two digit number
is 12. |f the new number formed by reversing
the digits is greater than the original number by
54, find the original number,

a) 39

b) 57

c) 66

d) 93

98. TN 1; TS T E|
au 2; $8 T3 T §
Y 3 ST T g B

ofg IRE FuF aw g, @ Fofaes § 9
Terae @it F0 3 A T o YT 87

| ot el e wE
| E6itfaR e ¥
| T Fsa Sl el 2
T) A |
ity e |
1, 1 3
) Faal
98. Fact1: Humans are mammals.
Fact 2 : Some humans are engineers.

Fact 3 : Engineers build houses,

If the above statements are facts, which of the
following can be logically inferred?

| All mammals build houses.
I! Engineers are mammals.
Il Some humans are not engineers.

) Nonly
y Ml anly
1 1L and 1l
di | enly

&
b
g

12 i o faweat & @ 97 e 9 Wi R e
e F e e smawgs w1

From the options given below choose the
word that is THE MOST ESSENTIAL element for
the given word.

89, HATI

) T
ah M
o T
ER Gl

89. Bathroom
2} Soap

b} Towe!

c) Shower

d) Water
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2 foude
100. Pride

a) Lion
b) Fish
£) Snake
d) Lizard

®
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U 1. WG TR F gafedt & e oie
e &7

T 109

&l 12 W19

i) 14 99

g 164ig

Q1. How many pairs of ribs are there
in a human body?

a) 10 pairs
b} 12 pairs
c} 14 pairs
d) 16 pairs

Uy 2. ARl @ feufear &1 & FRo 87
U) IR P UBIE BT agHSHT U
oft) Rl @t A= @ e

o) TRl @t A2 & s

3) ®IE Tl

Q2. What causes the twinkling of
stars?

a) Atmospheric refraction of starlight
b) Dispersion of starlight

¢) Scattering of starlight

d) None

w3 Rped o aer s Rrad 8
f&| Iueur 1 Judi a7 J 87

U) WTithEy

#h Sieew fAaEE

oy Teguer
Sh TRt 94

Q3. Which of these devices is used to
increase the power of a signal?

a) Amplifier
b) Veltage regulator
c) Attenuator

d) All of the above

U 4. € I 7,30 §9 Rt 9
Y SRR g gl |
&I YT e &

Q) HIEER 6 8,35 §9
o) ¥ fRa wm 7.30 T
o oY G gEw 7:30 &9
&) TR 70 8.35 &9

Q4. Ragio broadcast from Delhi on
Monday at 7.30 p.m. is heard at New
Yorx on

a) Tuesday at 8.35 p.m.

b} The same day at 7.30 p.m.

c) The same day at 7:30 a.m.

d) Sunday at 8.35 p.m.

Uy 5. iR 3R SIier gl

Q) YF S et €

&) 1 Y ¥ GHHR Fed
oy U g & T ged! 8
&) U g & vagd aadl &
Q5. Latitude and longitude both

a) Pass through poles




©,

b) Run paraliel to the equator
c) Run parallel to each othear
d) Run perpendicular to each other

%rars_mqﬁ'aaqﬁ @1 a9 Hgam

1) HTCIATH]

ﬁ] it

EIEESIE]

& e

Q6. The science of drawing map is
called

a) Cartography

b) Geography

¢) Topology

d) Geology

Y 7. 9 o 7 999 4WF §x
fhare @y &U San

) 37S
ahaife e

Hhywd

&) e e

Q7. Which country won the Cricket
World Cup most number of times?
a) England

b) Australia

c) India

d) West Indies

Y 8. WA Hifg/ Rgs
T IR g

T) 1557

A)1657

hy18s7

B 1957

Q8. Indian Mutiny began in

a) 1557
b} 1657
c) 1857
d) 1857

) HId

4l)urE

GIEERIErE

TET EPIH:EQ

Q9. Which Asian country has launched
e-auction of 20 eritical mineral blocks,
including lithium and graphite?

a) India

b) Nepal

) Afghanistan

)

L
d} Bangladesh

&) oiE s

Q10.Silkyara Tunnel, which was seen
in the news, is located in which state?
a) Jharkhand

by Uttarakhand

c) Assam

d; West Bengal

Y11, Il g9 H UF TRt smee A
&1 ok X o1 & o/ 99 sa=e 5%
A BT ER SR TR

T) e+ D1 Tga gy

ol g @ g5 Fam

W) e & o e

€ AT & e o gl

Q11. A passanger in a moving bus is
thrown forward when the bus suddenly
stops. This is expiained by

a} Newion's first law

b} Newton's second law

¢} Newten's third law

d) The principle of conservation of
momentum
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Q) 99

) da

) dax

S 7w

Q12. Which of the following organism
breathes from skin’?

a) Snake

b) Earthworm

c) Monkey

d) Humans

% 13. 98 g& o S sl € wE
et o Norar €, Seam g7

T 3t
CiEIES
) T
2) glel

012, The tree which sends down roots
from its branches to the soil is known as
a) Oak

b) Pine

¢) Banyan

d) Palm

w14, [Geyd e @ feamde L
CEhl

Q14, Electric bulb filament is made of
a) Copper

B) Aluminium

c) Lead

d} Tungsten

W15, T ) e el FeRued &
T Al

Gkl
e
a‘h@rﬁﬂﬂ

2a

Q15. The hardest substance available
on earth is

a) Goid

o) Iron

¢) Diamond

d) Platinum

TY 16, A14-Re® G UHH & Fo1 I
@I e e g
EIETT‘T
in diditeit
) egeri
2h gleesH
Q16. MNon-stick cooking utensils are
coated with
a) Black paint
b) PVC
c) Teflon
d) Polystyrens

W7, YT BT S 87

W) Tard

) e

eh g

Q17. Fathom is the unit of
a) Sound

o) Depth

¢} Fregquency

d) Distance

718, T AW fry vea o fa 27
T e wew
HETHY
I e
Q18. In which state Goal Gumaj
situated?
a) Andhra Pradesh
b) Karnataka
¢} Maharashtra
d} Kerala




%19, T TE] therel §
Uy WA get

) Heifer

&) g
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198, House fly spreads
a) Common cold

b) Malaria

c) Flu

d) Typhoid

Y4 20. WA & Uge Iwafd i aduafy
qgImg

Ty e Hella ¥

o) T ¥eig TG

dh) 8T udia 3fege HamH

&) vorg TREsf

Q20. The first president of India who got
elected unanimously

a) Neelam Sanjeeva Reddy

b) Babu Rajendra Prasad

c) Dr. APJ Abdul Kalam

d) Pranab Mukherji

w2, Fufifea S I s area g o
Haw 8l 87

T =0

ENRIGEAG]

) =+

3 EmEEE

Q21. Which of the following country is
not a member of SAARC?

a) Nepal

b) Maldives

¢) China

d) Afganistan

UH22. W & gdie el ¥ HRE &

? ety |97 o ol 81
1?1' 26
ah 31
) 34

EUES

Q22. The Supereme Court of India
censists of how many judges, including
the chief justice of India?

a) 28

by 31

c) 34

d) 38

Y% 23, 79 WEId 01 U9 oe Sy
e oy ¥ Ty o 82
o HHH
% a8y S
) IO
oh aeg
Q23 'Raas Mahotsav or Raas Leela
festival' is celebrated in which stata?
a) Assam
b) West Bengal
¢} Gujrat
d) Tamil Nadu

9424, foy & ugdl Uidew sreaa &1
TS ] b gl TRT?

9 T

EHEIEI

o)) gesT

&) detmg

Q24 Where was the world's first
portable hespital unveiled?

aj Gurugram

b) Ranchi

c} Patna

d} Chandigarh

UH25. U= Hfl ANE 9 A U Hee vaH
% Igued & AT W D Hl g
AR faeam?

0 %50

N F, 75

@ %, 100

BN ¥, 200

Q25. Prime minister Narendra Modi
released which coin to mark the
inauguration of the new parliament
building?
a) Rs.&0



(50
b) Rs.75

c) Rs.100
d) Rs.200

w6, Y fayfammea 3 oo ugen
JUUE @l e

Q26. Which university launched its first
own satellite?

a) JNU

b) AMU

c) BHU

d) None

UH27. S O Ol WRa B UEE!
iPhone ﬁfﬂf’d’iﬁ?

U) SEH WE

wh) framg

) T g

&h #is T8

Q27. Which company became India's
first IPhone manufacturer?

a) Adani Group

b) Reliance

c) TATA Group

d) None

%28, ﬁ?ﬁ%i%ﬁﬁﬁw@?
ET T

| ger

&) ams

Q28. Which city became India's first
solar city?

a) Jaipur

b) Sanchi

c) Patna

d) Chennai

w29, A Temd = by ey § YR
ﬁu‘eﬁﬁaﬁmﬂﬁﬁaﬁaﬂ SHIERT
EIF,

Q) STEE

oY) qo

Q29. In which city Nitin GadKkari
unveiled India’s 1% Methanol run
buses?

a) Bengaluru

o} Pune

&) Surat

d) Hyderakad

1% 30, T ol UY U 758 TUeE Rad uvE
H gy afafy &ie 42

Dk
iﬂ)gﬁ'rwﬂwﬁ
3N Uy S
Q30. Who was the chief guest in 75"
Republic Day Parade at Kartavya
Path?
a) Rishi Sunak
b} Joe Biden
c) Emmanuel Macron
d) Anthony Albanese

TY 31, WRd & g e 1 e e
] WAl §7

) AFd S

alf) dHEg

ffy oy 3R FEHR

S RIEEE]

Q31. In which state of india 'Hornbill
festival’ is celebrated?

a) Nagaland

b) Tamil nadu

c) Jammu & Kashmir

d} Gujarat

UH32. G w1E @1 ugd Aige o dt
Q) ATl Y AR
&) A W H e
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Q32. First female judge of Supreme
Court was

a) Justice Sujata Manohar

b} Justice Ruma Pal

c) Justice Gyan Sudha Mishra

d) Justice Fathima Beevi

w333, s wsgraeh & UPI @1 gif =g
87

Q33. What is the fuII form of UPI in
banking terminology?

a) Unigue Payments Interface

b) Unified Payments Interface

¢} Universal Payments Interface

d) United Payments Interface

UH34. e 1w o vl viEe un @)
Eﬁ%{ﬁﬁ?ﬁ?%”

CUETEGIECTS

Hl) s il

2 ymfdey o

(34. Who is the sculptor of the idaol of
lord Rama placed at Ayodhya Temple?
a) Subodh Gupta

b} Bharti Kher

¢) Arun Yogiraj

d) Ramkinkar Baij

TH35. g fFasg . #
T) ¥3eye fEarsy
ﬁh fererefl #1 smgfd
ESl GAEEIET
?ﬁ} ?ﬁ 4 e et
Q35. The biometric device is
aj Output device
b} Power supply
c) Input device
d) None of these

U%36. BISH HIUE 98 H Ciri+N i %7
TR fefa S &

0 GEY Heof

) TR GIe

T = FwEy

o Ty J Y

Q36, In Microsoft Word, the command
Cirl+N is used to

a) Save document

b} Open document

c) New document

d) Close document

W37, BWie ®U Y, AUF T
e # file gid T

U) UF dSEpy

dh Tée

i O Sy

) file ey

Q37. By default, your documents print
in mode,

a) Landscape

by Portrait

c) Page setup

d) Print view

P EERE G i ST B 1
) wE

o ¥

) [ fepp

) W&

Q38. Junk e-mail is also called
a; Spam

b} Spocf

c) Eniffer script

d} Spoaol

Uy 39, GEEs R gt quEr
W & fou Fofafes & & o9 @
WTEaTR s wad IUgEd SR
T) Sersy

dl) ewaed IR

) e dbw

2l) BisEie

Q39. which one of the following
software applications would be the



1

most appropriate  for  performing
numerical and statistical calculations?
a) Database

b} Document processor

c} Graphics package

d) Spreadsheet

Y 40. FofefEg ® @ 99 W sEdd
JUFH0N & To wed ST SfuRTHE 87
A e

o A wIRES

h BEd SRHEES

2N gl

Q40. Which one of the following is the
best fire extinguisher for IT equipment?
a) Dry powder

b} Bromao Chloride

c) Carbon Dioxide
d} Water

uyat. fefed éfea aripn &9 gw
T T AuT?
T) 2013

|l 2014
0 2015
B 2016

Q41. When was Digital India program
started?
a) 2013
b) 2014
c) 2015
d) 2016

Uy 42, Wgqe HIEl & W= He
B E R I T s R R Tl

Q42. Fatehpur Sikri was founded as the
capital of the Mughal Empire by

a) Babur

b) Humayun

c) Jahangir

d) Akbar

U% 43, 3@ & GXER & gad AeH
FfleresTs drEH 1 HE T ol

1) Hede Uis

&) T IS

i s

o) <l e

Q43. The criginal name of Tansen, the
greatest musician in the court of Akbar,
was

a) Makaranda Pandey

b} Ramatanu Pandey

c) Haridas

d) Lal Kalawant

44, WiTHERI iR 95 giaddl &l
PaEd # 4 o8 W il nad 22

U) & ey - RER

dl) U, 0 F - Jet

) g o | - Rar

2 faféeems wF - w8

Q44. Which one of the following pairs of
musicians and their instruments Is
incorrect?

a) K Waidyanathan — Sitar

by Pi. Ram Narayan— Sarangi

c) Ustad Vilayat Khan - Sitar

d) Bismillah Khan — Shehnal

ysas, Ui & Oge Aiedl ik Oigac
B B2

S ST

%)

i) %}gm

o SiFnef ot

1) aiftier Rig

Q45. Who is Asia's first female loco
pilat?

a) Asmat ara

o) Surekha Yadav

c) Sonakshi Sharma
¢) Arpita Singh

Uy 46, @Y @1 Hed FE] HEH TIH
forg ude et w Ry 27

T ®2 i

afty sraguif

) 7de e
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Q46, On which mountain peak world's
highest weather station located?

a) K2

b) Mount Annapumna

¢} Mount Everest

d) MNone

Uy 47, [5q 29 & SEEN H 61 a6 o
gﬁ?ﬁaﬁmmaan,nm ! firoae ang
7

T} HId

Q47. Which country's population has
declined for the first time in 81 years
with a fall of roughly 850,0007

a) India

b) China

¢) Indenesia

d) Pakistan

us4s. e 231 3 ool vy Y qan &
fere fageft el & wai ox aftey &
R 82

0 ¥

ah e

) =

g st

Q48. Which country has banned use of
foraign words to ‘protect’ its language?
a} China

b) Japan

c) Russia

d} Germany

0% 49, IEHI IR SEUH-3 &) AfET age
&1 AT F97 82

T Ry fEg
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¥ 3 fdg
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Q48, What is the name of landing site
of Chandrayaan-3 on moon?

a) Siya Ram point

by Radha Krishan point

c) Arjuna point
d) Shiv Shakti peint

T 50. 4G WaEH § ‘G’ & B ya
o wreg, & e oy wan 22

) dff

o) =

UYL

Q50. G’ letter in 4G spectrum is used
for which word?

a) Global

b}y Governance

¢! Generation

d) Geogle




PAPER-I

ENGLISH LANGUAGE TEST

Identify the correct spelling

Q1.51

a) Apprentic
by Aperentic
c} Apprentice
d} Aprentic

Q2 2

a) Renaissance
b) Rennaissance
¢) Renaisance

d) Rennaisance

Q353

a) Liaison
b} Liasion
¢) Laison
d) Laision

Q4.4

a) Collasgue
b) Colleague
c) Collegue
d) Coleague

Qs5. %

a) Maintennance
b) Mentenance
c) Manteinance
d). Maintenance

Q6. 56

a) Questionaire
B) Questionare
¢) Questionnaire
d) Questionnare

Identify the correct meaning

07, Hold out
=X

o Q10

Hignlight
Show
Offer
Fromise

. To be above board

To have a good height

To be honast in any business
deal

Tney have no debts

To try to be beautiful

Sguare up

Consider
Discuss
Settle
Warkout

Checkered caresar

Had a variety of jobs and
experiences

A career which helped him make
lot of money

A career where he signed a lot of
cheques

Did odd jobs

A moot point

Undecided
Uncertain
Unknown
Not clear

. Spick and span

Meat and clean
Out spoxen

A readymade thing
Garrulous

Get your walking pagers

To be received gracefully
Get fired from the job

Te sign on papers
Compromise

SR



Identify the incorrect sentence from

()

the options given below

&Y Q14

a)
)
c)

d)

Mr. Anuj is one of the most
helpful persons.

Very few persons are as helpful
as Mr, Anuj,

Mr. Anuj is more helpful than all
other persons,

Mr. Anuj is more helpful than
most other persons.

The police have armrived at the

SCENE.

The case with the glassasis

broken.

The furniture is old and must be

replaced.

The vase with flowers looks
~beautiful. ’

" Did they sent me any books?
| had known about this.
Abhir and Aadhya go to schoal
daily.
| love teaching.

He restricted from all temptation.

Mr. Dev died on the morning of
15t

The teacher beat him black and
blue,

[ was taken il yesterday.

€8 Qs

b)
c)
d)

Arushi gave me this news.
Have you ever been there?
We enjoyed during holidays.
He does not know the English
alphabet.

Fill in the blanks from the options
given helow

€9 Q19. Can you come
sometime?

+ .~a) for
o) with
c) after
d) on

=16 Q20 We have been jogging
this park five years.

a} at, since
b} ta, about
cl in, for

d} in, since

=11 Q21 Walk the garage and
. then turn left,

a) to

by toward
c) from
d) in

2 Q22. Place the pen the
drawer.

in
at

B
inside

coce

Q23. The squirrel hid the nuts

a pile of leaves.

a) beneath
b} under

c) below

d) underneath

MNarration : ldentify the incorrect
- sentence from the options given
below



a) She said, “We visited
Uttarakhand in the summer
vacation.”

b) Rina said that she went to the
church.

c) Ram said, “l went to the market.”

d) They told us, “We are waiting at
the station for a long time.”

He said that he is leaving tocday.

b) Dev said to his mother, "Don't
worry we'll soon find a way out of
this crisis.”

c) They asked me if | would like to
come with them,

d) Ram said that he was very busy

then.

1L Q26

a) Our teacher said, “The earth is
round.”

b} Rajiv told me that he plays with
the right hand.

¢) My mother requested me going
to the shop.

d) Our teacher said, "Ashcka left
war after the conguest of
Kalinga.”

=% Q27.

a) She said, "If | were rich. | would
help him."

b) The lawyer told to his client that
they would win the case.

c) She told me that | should obey
my elders.

d) She said to me, "l shall sleep

NowW.

Read the following passa“ga-'hnd
choose the answer from the options
given below

The prilllant history of indian paintings
starts from the wall paintings of Ajanta

. — the frescoes, Scholars believe that

during that period, nowhere in the
world were such fascinating and
amazing paintings created as in the
thirty caves of Ajanta. The paintings
represent the golden period of Indian
art, These temples of Ajanta are
situated in the district of Aurangabad in
Maharasntra. Twenty-nine of these
thirty caves are complete, The thirtieth
cave is very small and incomplete
some scenes of Buddha's life are
inscriced here and some statues of
Buddha have been found in this cave.
Regrettably for a hundred years, this

"' place remained the home of wild

animals and birds. In 1818, some
officers of the Madras Regiment
noticed these caves for the first time
while hunting. Thereafter several
attempis were made to prepare copies
of these paintings so that the world
gets to know about them. Some copies
mere made with the help of Sni
Mandalal Bose and his students
betwaen 1909 and 1911, After
Independence, the Government of
India published the paintings in four
volumes, which the Lalit Kala Akademi

"+ got photograpned. The subjects of

trese paintings are varied. Different
aspects of life have been captured in
colour, Inspite of their limited means,
the artists moulded with such skill and
perfecticn that even today we are
fascinated by the rhythm and the
palance of the crnamentation.

—1% Q28. In 1819, the caves were noticed

for the first time by some officers of

a) Maratha regiment
by Madras regiment
¢) Sikh regiment

d} Gorkha regiment




N9 Q28. There are painted caves
at Ajanta.

a) 40
b} 2%
c) 35
d) 30

¢o Q30. What have been found in the
thirtieth cave?

a) Statuss of Godesses
b} Paintings of lord Shiva
c) Paintings of nature

d) Statues of Buddha

@1 Q31 Who did among the following
prepare some copies of the wall
paintings of Ajanta

a) Nand lal

b) Lala Deen Dayal
c) Sri Nandalal Bose
d) Shivani Sud

¥ Q32. The paintings were publishad
by

. a) The Govt. of India
b} The Govt. of Madras
c) The Govit, of Maharashtra
d) None of the above

Active/Passive Voice : Identify the
incorrect sentence from the options
given below

€3 o33

a) The book was written by the
author.

b} The lesson is baing explained by
the teacher.

¢} Had the assignment completed

by me?
d) They will demalish the entire
block, “ *

Y Q34

a) The letters must be deliverad.

b) The book has already been
discussed.

c) Was you treated by him?

d) Can the situation be controlled
by the commissioner?

Active/Passive Voice : Complete the
sentence given below

%Y Q35 Harry needs to be care
of.

a) taking
by taken
c) take
d) took

& Q36. Letthe police him out.

a) be checked
b) was checked
c} checked

d) check

Identify the correct synonym for the
words given below

¢3 Q37. Soirit

a) fear

b) respect

c} mettle

d) nore of the above

3% @38, Busy

a) cccupy
b) easy
c} active
d) diligent

®9 Q39. Hospitable

a) indifferent

b} welcoming

c) sympathetic
d) faithful

%o Q40. Militate



a) assurance
b) oppose
c) support
d) agree

Identify the antonyms for the words

given below
Q41. Grateful

a) unappreciative
b) beholden

¢) obligated

d} appreciative

Q2 (42, Sceptical

a) credulous
b} questioning
c) dubious

d) cynical

93 Q43. Resilient

a) vulnerable
b) flexible

c) stout

d) buoyant

9y Q44. Infallible

a) error-free
b) imperfect
c} scrupulous
d) uncanny

q¢ Q45 Absurd

a) sensible

b) ridiculous

c} foolish

d) preposterous

Identify the nearest one word..
substitute for the sentence given
below '

Q46. A state, society, or group
governed by old people

a) Gerontocracy
b) Cligarchy
c) Mesocracy
d) Plutocracy

&2 Q47 Violation or misuse of what is
regarded as sacred

a) Regalia
b} Sacrilege
c) Venial
d) Pantheism

A% 48 Atemporary pelice force

a) Horde
by Clague
c) Posse
d) Clique

‘1‘] Q49. One who collect coins as
hobby

a) Numismatist
by Philogynist
c} Recluse
d) Polyglot

lep Q50. A news article that reports the
recent death of a person

a) Cortege
b} Suicide
c) Mortuary
d) Obituary




